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(X3 EF4 R=E4 24 | &Hhm| &8P |Edm| EBP | =W EXBH #EE | A%
1 A BX NG 2 256 256 | 12 | 272 796
2 i BEX mEXE 2 128 | 12 | 12 192 344
3 DiE FKih LBXE 4 192 | 30 | 20 32 274
4 =+ Hm [l L K 3 128 64 80 272
5 EE NP 3 64 64 128 256
6 oE Ei [# L K= 4 32 128 32 192
7 =N g NN 2 32 64 | 12 | 80 188
8 ES AR NI N=2 2 64 32 80 176
9 =) HiE [E] LU K= 4 32 16 128 176
10 WA % ZIEXFE 3 64 | 12 | 32 48 156
11 K+t Egsl LEXE 4 64 | 12 48 124
12 Pl 2K TEKRFE 2 32 48 80
13 RE BF% FREKE 4 80 80
14 FE RRR DL K 3 32 32 8 72
15 XE BA NP2 2 32 32 8 72
16 [KAIA 6 DL KR 4 8 32 32 72
17 IR FEKE 3 32 | 12 ] 12 8 64
18 ZFW EX LEBRERE 2 20 20 24 64
19 BK _BF WOXZEZER 4 36 | 15 [ 12 63
20 28 # TEKRFE 3 16 32 48
21 =20 #%— | GEXEEXE 2 20 20 8 48
22 EH.EKER NP2 2 12 20 16 48
23 Al RE LEEEXRFE 4 8 8 32 48
24 CIEA: 320 MILKE 3 12 20 16 48
25 ih EF waxXs 2 2 36 8 46
26 FEIR U LEKFE 4 20 20 4 44
27 WE 01t MILKE 4 20 20 40
28 JKIE iR EEKRE 3 20 12 8 40
29 #E I [#] LU K2 3 20 12 8 40
30 KH B+ LERERE 2 12 20 8 40




